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1. 次の式を因数分解しなさい。 

 1  ( ) x + 2 a - x + 2 b( ) ( )

 
x + 2 = M とおく
Ma -Mb = M a - b = x + 2 a - b( ) ( )( )

 

 2( ) x - y + 6 x - y + 8( )2 ( )

x - y = M とおく

= M + 6M + 8 = M + 2 m + 42 ( )( )

= x - y + 2 x - y + 4( )( )

 3( ) a + b - 3 a + b - 18( )2 ( )

a + b = M とおく

= M - 3M- 18 = M- 6 M + 32 ( )( )

= a + b - 6 a + b + 3( )( )

 4( ) x + 1 - 4 x + 1 + 4( )2 ( )

x + 1 = M とおく

= M - 4M + 4 = M- 2 = x + 1 - 22 ( )2 ( )2

= x - 1( )2

 5( ) 2y - 3 + 10 2y - 3 + 25( )2 ( )

2y - 3 = M とおく

= M + 10M + 25 = M + 5 = 2y - 3 + 52 ( )2 ( )2

= 2y + 2( )2

 

 6( ) x + 1 - y + 1( )2 ( )2

２乗引く2乗の公式を応用する
= x + 1 + y + 1 x + 1 - y + 1(( ) ( ))(( ) ( ))

x + y + 2 x - y( )( )

 7( ) 2a - 1 - 3a + 2( )2 ( )2

２乗引く2乗の公式を応用する
= 2a - 1 + 3a + 2 2a - 1 - 3a + 2(( ) ( ))(( ) ( ))

= 5a + 1 -a - 3 = - a + 3 5a + 1( )( ) ( )( )
 

 8( ) 3x x + 3 - x + 3( ) ( )2

x + 3 = M とおく

= 3xM -M = M 3x -M =2 ( )

= x + 3 3x - x + 3 = x + 3 2x - 3( )( ( )) ( )( )

 

1  ( ) x + 2 a − b( )( ) 2  ( ) x - y + 2 x - y + 4( )( )

3  ( ) a + b − 6 a + b + 3( )( )    4  ( ) x − 1( )2

 5( ) 2y + 2( )2  6( ) x + y + 2 x − y( )( )

 7( ) − a + 3 5a + 1( )( )  8( ) x + 3 2x − 3( )( )

 


